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SH: ASXH D
o F B WA (AMISX/FY)
=

Sl FHEY A (S92
_ _ HE T
SN EB -GS - MBAY - BES 0l & 2 il ot o {imE=Eh
— Ol bl QFF 7 | 250,000 * 10744 2,500
—HY HFE 1,400,00090 * 3744 4,200
402 212X+ 0| & 249,000 0 249,000
01 QIR ESE 249,000 0 249,000
OASS A= XA AL 249,000
—osxy 10,500,008 * 182 189,000
N EE 30,000,000% * 2044 60,000
SHENASS FHRH AL (D) 48,000 0 48,000
= 14,400
Al 33,600
403 RHXISHHI S XH 0| H 48,000 0 48,000
= 14,400
Al 33,600
02 2712 S 0fl CH & CH 3 AF 23 48,000 0 48,000
OS0ENASS Zef2 A
48,000,0002 * 14} 48,000
= 14,400
Al 33,600
ASHT(FTELXANL/NSLTAI) 184,874 122,676 62,1%8
oM AEHH 184,874 122,676 62,1%8
A= o - 57t 177,826 119,776 58,050
201 YBr2 | 17,676 14,676 3,000
01 At 22| 7,676 14,676 3,000
OAZQIGIt HAIRY  100¥ * 155 + 50004 750
OAE5I} groll 2 15,0002 * 105 150
OABYAHLE 7Y 100,000 * 12 100
SEELE 10,800
—IY &A 4Y 70,0002 « 10Z * 83 5,600
—ME MM 4Z 30,0002 « 10Z * 83 2,400
—I &a ol 70,0002 * 52 * 83l 2,800
OABAUBL L2 (51 LABSAZ A
e 230,020% * 1/8 * 1002 2,876
OMSsi2 452 82 3,000,008 * 14 3,000
202 01t 4,200 1,400 2,800
01 2UHOIH| 4,200 1,400 2,800
OAZHZANG LT oY)
70,0008 * 4% * 52 * 23] 2,800
SEELLE YIRS
70,0008 * 5% 42 x 13l 1,400
301 YprE a3 4,200 4,200 0
EPIEERE 4,200 4,200 0
OASL Ay (AEF, AT, AIBK) 4,200
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SN ASTED
HE: ASHT(FTELXANL/NSLTAI)
Sl NS ABHH (el &2
_ _ HE T
SM-EH . C(BH) - HRAY - B2 0 Ak o4 0 At of Hlus2
— I &= 1,000,000& * 34 3,000
— &HIH R 200,000& * 6H 1,200
402 BI2H X201 M 150,000 99,000 51,000
01 QItXI=2E X 150,000 99,000 51,000
ONE HEHS ASE X2
50,000,000& = 3= 150,000
405 AHotE S HI 1,750 500 1,250
01 XML =SZFHSHI 1,750 500 1,250
O2LIE P (A=50t MSEH H2l)
350,000& * 54 1,750
SHA=ES U5 7,048 2,900 4,148
101 121t 3,298 0 3,298
04 JIZtHZ2 2 S E 3,298 0 3,298
OABSUE FMEEY oIy
36,6403 « 1 » 90 3,298
201 YBr2 Y| 1,300 800 500
01 AR 2t eld| 1,300 800 500
OASTY THTY 200
—d=gR s 100,000& = 1& 100
—ERIY HEF 100,000 * 12 100
OREFINTBANT L AS2OHE vl A
B 15,000& * 202 300
OfIBAES NEos 22IS MR
200& = 10004 = 10& 200
OH=SUE M4 72 503 » 165 = 50004 400
OREFEXE BeUINE MEH
2002 = 10004 = 10& 200
202 01t 2,100 2,100 0
01 =2 A 2,100 2,100 0
OABSUHE FUIAY ARFZ 0|
70,000& » 2% * 1 = 153 2,100
405 X443 S bl 350 0 350
01 MMt =S ZFH=HI 350 0 350
OUXEItoet +¢ 350,000& * 1K 350
ANEHH(FIELX DML/ NSLEAl) 357,110 406,477 A49,367
= 6,000
= 7,000
Al 344,110
XA 2t 209,444 259,828 A50,384
= 6,000
= 7,000
Al 196,444
EXO0IE Hel 17,970 17,970 0
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SN ASXE D
By IHSF(ZELXGNL/NALZA)

¢ XE22 (&9 HM
i, _ _ pSIEN=
SAN-ZH-SA(FA) - NFAY - BES O AF K 'Oﬁ/'\ja'g Hlw &2
201 Lt 17,970 17,970 0
01 AtR2telH 4,370 4,370 0
OEXNOIsMEMARR 50 *« 55 * 5,0000H 1,250
OXN&E2HA TNPY 30,000& » 23 * 6& 360
OXHQIZ HHEH 500
—SAII(AE) 500,000& = 1CH 500
ogzgsllsel & |X
600,000& = 20 * 13l 1,200
OFSHM(LIZal)  120,0009 * 48tA « 23] 960
ONEAFHNHI AT ESEEE S ME
1002 » 1,000& = 13l 100
02 S22 13,600 13,600 0
OXNAHIR(RUE)A A 2L - S/W RX2el
150,0003J * 128 1,800
OXZEIESELAALY - S/W A2
150,000 = 12& 1,800
OXNHIIZE= BF=E 10,000,000& * 14 10,000
K& L 2t 20,796 20,325 471
101 @124 4| 6,596 6,300 296
04 JIZtH22HSE =+ 6,596 6,300 296
OXHCHAMAS 012
36,640 » 2 » 90€ * 13 6,596
201 LA 14,200 14,025 175
01 AR 2telH] 7,400 7,225 175
OXNAECHMATIZHAZ DT
20,0002 * 20t 400
OXNHMLUEH ZEHAZX(A0) 7L (SN &
8 2 SH0Y) 250,000 * YA 2,000
ONHHMMEHSHSI(ECINAHEEZS) Y
20,0003 * 30t A 600
ONHMMEH =28 S2H IR U(222
X gd) 2,000,000& * 1MIE » 13 2,000
ONFHMEZTH ZHIRIHI| EU(444)
1,200,000& = 104 * 23| 2,400
02 33244 6,800 6,800 0
OXHCHHMAS AIAEZE] S/W RXE
100,000& = 12% 1,200
OXNH=SEZ=2E MAX 100,000 * 40& 4,000
OSHIIN(ELAHOIE)RXIE 44|
800,000& = 20H * 13 1,600
2Sd ARA BHs ¥ NESE 2 5,160 5,160 0
201 Ler2aE| 5,160 5,160 0
01 AtR2telH 5,160 5,160 0
OXNHeI 87 iy 203 * 55 = 30,0000H 3,000
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SN ASTED
o NN (FELXANL/NSLTAI)

¢ XE22 CEREED
_ ) _ pofEN
SAN-ZH-SA(FA) - NFAY - BES O AF K bﬂ/‘\_“’” Hlw &2
OXNFe Ug SASX(MEX)
13,0008 * 10=FA » 123 1,560
Oelsll 25 & &% 50,0008 * 204 * 62 600
CE2HFA MY 136,018 198,440 N62,422
101 Q14| 13, 191 12,600 591
04 JIZtHI22 S+ 13,191 12,600 591
OASHSE A 2 &3 o2
36,6402 * 3% + 1202 13,191
201 24 69,380 91,298 ~21,918
01 At 22l 69, 164 91,238 A22,074
OE2HEFAAY 45,100
—AAE S 2 500,000 * 23] 1,000
—E2H sX&2ll 500,000& * 13 500
—E2H X 30,000& = 402 1,200
—E2H 23 80,0003 » 6& * 53 2,400
— 2L MAE HUHNE HE
40,0002 * 1,000% 40,000
Ozzdx4 EE28 M 19,140
—EE2E g% 60,0002 * 19004 * 13 1,140
—E2HFAL S22
1,000& = 10,00000 = 1=l 10,000
—&X& 2t XI&= 800 = 10,0000 » 13 8,000
O=2HF4A DA HUHE
330 * 2002 * 243 1,584
O3I=79 4% 282 90& = 10,0000H 900
O=Jt X&8s 88 90& = 10,0000H 900
OM=2A - XNZRAs 34 ¢
70,0003 » 11& = 23| 1,540
02 S22 216 60 156
OE2EF4A XYt E MRS
1,000 * 184 » 128 216
202 04| 1,680 1,680 0
01 =0yl 1,680 1,680 0
OEEYFAAMY VD=2 48 . 2IHKE
S /34 A0
70,000& » 18 » 22 » 123 1,680
206 M =] 9,500 9,500 0
01 =4 9,500 9,500 0
OEZ2HFARHAIY 9,500
—AMEES 223 22  1,000,000& * 22| 2,000
—ANE= 88 SAEXN F#&
2,500,000 * 12 2,500
—USHSE(BHS) 7
5,000& = 1,0004 5,000
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D AEXE D

‘:m&@g(aigm%m%VMﬁ;EM)

S EPNESEye

S - Xz C}O|(Elj1|) NEAY - HA2 Al OH &EIE Hmn=2
- e ° T EEREES = 04”:"% ree
401 Al H 2 20| 37,267 37,267 0
01 Al&H] 37,000 37,000 0
O&EZ2g x4 ot d= 44X 2 sX22 37,000
—C=z9o A S XlZel
400,000 * 20K 8,000
—2AE2HSE 2 S
10,0002 * 1,0007H 10,000
-T2 FA e X1 & S22
7,000,000 * 204 14,000
—C2L0 T 29 DA ZAF L X2
25,0002 * 20000 & 5,000
03 Al< 20HH] 267 267 0
O&Ezgzx4 of 82 X AME20d
37,000,0002 * 0.72/100 267
405 KHAHE SH 5,000 4,000 1,000
01 ML EEFEH 5,000 4,000 1,000
OZ2YF4 & g Es3 7Y
5,000,000 * 1CH 5,000
CRUTAANAESELMEZER(2) 24,500 0 24,500
= 1,000
[~ 7,000
Al 16,500
201 L2 24,500 0 24,500
= 1,000
[= 7,000
Al 16,500
01 At22t2|H 24,500 0 24,500
OE2YZA CHUXIE M 24,500
—E2%F4 FX OHLH X &=
8002 10,0005 8,000
= 1,000
[= 7,000
—CRY=A 02 tURE
100,000 * 1655 16,500
CRHEFAANY(Z) 5,000 0 5,000
= 5,000
401 A& HI 220 5,000 0 5,000
= 5,000
01 Al&H] 5,000 0 5,000
02y &« AS 3= 625,0002 * 8H 5,000
= 5,000
Xotze] 147,666 146,649 1,017
HEZAIKIDE E A 147,666 146,649 1,017
101 @124 4| 22,717 21,700 1,017
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A AFKE L
HH: NHHH(ZELRNANL/RNALEAI
chel: Xiorzel

~

i} _ _ FSIER=
2N -3 - c2(3H) - NEME - HES 0 Ak oH @E%
04 JI2ZtRIRR2 RSB % 22,717 21,700
OMEZAIXIL EAF ol 22,717
—XIEET MA@
36,6409 * 28 * 60 * 13 4,397
—EXNSHZARY
36,6402 * 10¥ *» 50 x 13 18,320
201 LEr2AH| 124,949 124,949
01 AL 22/ 106,549 106,549
OXIEH HMAXR BHelg CDRY
25,0002 » 129tA 300
OLHLIAL 2E 222 81,039
—XMJIAS(1E1Y JI=E)
40,0002 * 170,000 X /62Z X| * 50% 54,839
—olHAMEE EXNAES
40,0008 * 2002 X * 50% 4,000
—0|9AH EXAEE
40,0002 * 2002 X * 50% 4,000
—28 3Y £ EXNOISE 2E(7TR1LIIE)
40,0009 * 2,500Z X * 50% * 30% 15,000
—HERL2 MA BUYAER 2ELLE
2,000,000,000&4 * 8/10,000 * 23| 3,200
OMgHI 8 HE 22 1,600,000 * 33 4,800
OEXNEN ZAE L Z2FHXIMN 20l
50,0008 » 302 A 1,500
OXAHA X2 |0 50,0002 » 302t A 1,500
OMEZAIXIL MEEN KO
50,0002 = 302 A 1,500
OMNESAXI Z2HEXNZ 2N
70,0009 * 409t A 2,800
OMEZSAIXI ZHEXE =8
30,0009 * 408tA 1,200
ORXIJFEAL QHY &, 2E 2D 849 M
60,000 * 13744 * 43| 3,120
OfSA HIIRF A
70,0002 * 12% * 63l 5,040
OXNIIEH Z2F X (A0)FC
35,0002 * 502 1,750
OXINEH Z2F AR (444)
40,0002 * 50 2,000
02 2229 18,400 18,400
OXIISET Z2IAAH 22X L B4
200,000 * 12% 2,400
OMNEZAXI LEEXNS QEIN 2=
2502 * 50,0000H 12,500
OD=WO0IM Z2IEDI(ROSEI) 22l LRXEH
250,0002 * 128’ 3,000
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fA: AFKHIL
Mo RSB (ISLXSNL/XSLEA)
e Xor2tel (el =3
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
OXNIIEEEH Mitgt 22H |A E B
250,000& = 2CH = 13l 500
HY2AHUI (ASX ) (IIEHIIE) 146,380 139,754 6,626
Jl=2Z4l 146,380 139,754 6,626
Jl=&d| 146,380 139,754 6,626
201 ZEt2FH| 30,580 30,534 46
01 AtR2tel 30,580 30,534 46
O=SMEX 7Y 13,0008 * 30=tA » 123 4,680
OS2 AL 5,000& * 64 = 30 » 128 10,800
Ogeh =2 100,000& = 122 1,200
OLmE EM7SHI 50,000& * 12& 600
OLA2 =&l 11,500
—= Al =2l 500,000& * 2CH 1,000
—ZelH =2l 100,000& = 6CH * 50/100 300
—=A| EY 200,000& = 53| » 2CH 2,000
—ZeH Eu 200,000& = 53| * 604 6,000
—ZetZEl Y 200,000& = 52l = 1CH 1,000
—pc==cl 100,000 = 30CH * 20/100 600
—JIEH EHl==2] 50,000& = 128 600
OJIE AH2EZHI 5,000& = 30H = 123 1,800
202 (44l 110,400 103,820 6,580
01 =LHA bl 107,400 103,820 3,580
OA=XNHEL JRFE Ol 107,400
—2ZHLHOdHl 20,0003 * 309 » 12& * 12& 86,400
— =LA 70,000& = 30 = 10 21,000
03 =2 P R0l 3,000 0 3,000
OsAMEAl 2xd X0
3,000,000& » 144 3,000
203 J =&l 4,200 4,200 0
04 EM2I TR 4,200 4,200 0
ORNMZBZHE=AHI 350,000& = 122 4,200
204 X R=HHH| 1,200 1,200 0
01 M MSHRP=HHH| 1,200 1,200 0
OXMSHRHAH (ASXH U E)
100,000& = 1 * 12& 1,200
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